

الف) $f = \{(3, 2)(n, 5)(3, n^2 - n)(m, 2)(-1, 4)\}$

$n^2 - n = 2 \rightarrow n^2 - n - 2 = 0 \rightarrow (n-2)(n+1) \rightarrow \begin{cases} n = -1 \\ n = 2 \end{cases}$ غلط است

ب) $f = \{(-1, 1)(2, 2)(2, 3)(a, m-1)(a+2, n)(m, 2)\}$

$(-1, 1)(2, 2)(2, 3)(-1, 2)(2, 2)(2, 3)$

$(m=2) (n=2) (a=-1)$

$f(x) = \begin{cases} 2x-1; & x \geq 1 \\ x+a; & x < 1 \end{cases}$

$a=1$ زیرا $f(1) = 2(1) - 1 = 1 \rightarrow R_1 = [1, +\infty)$

$R_2 = (-\infty, 1+a) \Rightarrow 1+a \leq 2 \Rightarrow a \leq 1$

$f(x) = \begin{cases} 2x-1; & x \geq 1 \\ ax+a-1; & x < 1 \end{cases}$

$a=1$ $ax+a-1 \rightarrow a > 0$

$y = 2x-1 \Rightarrow x \geq 1 \rightarrow 2(1)-1 = 1 \rightarrow y \geq 1$

$y = ax+a-1 = a-1 \rightarrow y \leq a-1$

$0 < a < 2$

الف) $y = x^2 + 2$ $y_1 = y_2 \rightarrow x_1^2 + 2 = x_2^2 + 2 \rightarrow x_1 = x_2$

$x^2 = y - 2 \rightarrow x = \sqrt{y-2} \rightarrow y = \sqrt{x-2} \rightarrow f^{-1}(x) = \sqrt{x-2}$

ب) $y = x^2 - 2x + 2$

$y = (x-1)^2 + 1$

الف) $y = \frac{2x+1}{x-2}$ $y(x-2) = 2x+1 \Rightarrow yx-2y = 2x+1 \Rightarrow x(y-2) = 2y+1 \Rightarrow$

$x = \frac{2y+1}{y-2} \rightarrow y = \frac{2x+1}{x-2} \Rightarrow f^{-1}(x) = \frac{2x+1}{x-2}$

ب) $y = \frac{4+2x}{x+2} \Rightarrow \frac{2(2+x)}{x+2} \Rightarrow y = 2$

$x = 1$ $x = 2$

$$a) y = \sqrt{x-r} \quad y_1 = y \rightarrow \sqrt{x-r} = \sqrt{x_1-r} \rightarrow x_1 = x_r = \sqrt{x-r}^2$$

$$(x) = \sqrt{y-r} \rightarrow x^2 = y-r \quad y = x^2 + r$$

$$b) y = x^2 - 2x + r, x \in [r, +\infty)$$

$$y = x^2 - 2x + r + 1 - 1 \rightarrow y = x^2 - 2x + r - 1 \Rightarrow y = (x-r)^2 - 1 \Rightarrow (x-r)^2 = y+1 \Rightarrow$$

$$x-r = \pm \sqrt{y+1} \Rightarrow x = r \pm \sqrt{y+1}$$

$$f^{-1}(x) = r + \sqrt{x+1}$$

نقطة ٥٥٤
نقطة ٥٥٤

$$f(x) = x + \sqrt{x}$$

$$f^{-1}(x) = ax + b - \sqrt{x-c}$$

$$a + rb + rc = 1$$

$$t^2 + t - y = 0 \Rightarrow t = \frac{-1 \pm \sqrt{1+4y}}{2} \Rightarrow t = \frac{-1 + \sqrt{1+4y}}{2}$$

$$f(x) = x + \sqrt{x} \rightarrow \sqrt{x} = t$$

$$f(x) = t^2 + t$$

$$\begin{cases} a=1 \\ b=\frac{1}{2} \\ c=-\frac{1}{4} \end{cases}$$

$$\sqrt{x} = \frac{-1 + \sqrt{1+4y}}{2} \Rightarrow x = \left(\frac{-1 + \sqrt{1+4y}}{2} \right)^2 \Rightarrow f^{-1}(x) = \left(\frac{-1 + \sqrt{1+4x}}{2} \right)^2$$

$$\Rightarrow \frac{1 + 1 + 4x - 2\sqrt{1+4x}}{4} = \frac{1}{2} + x - \frac{1}{2}\sqrt{1+4x} \Rightarrow x + \frac{1}{2} - \sqrt{\frac{1}{4} + x} = ax + b - \sqrt{x-c}$$

$$y = \frac{x}{\sqrt{x^2-r}} \rightarrow \frac{x}{\sqrt{x^2-r}} = \frac{x}{\sqrt{x_1^2-r}} \Rightarrow x_1^2 x_1^2 - rx_1^2 = x_1^2 x_1^2 - rx_1^2 \Rightarrow x_1^2 = x_1^2 \Rightarrow x_1 = x_r$$

$$f(x_1) = f(x_r) \quad y = \frac{x}{\sqrt{x^2-r}} \Rightarrow x = \frac{y}{\sqrt{y^2-r}} \Rightarrow x^2 = \frac{y^2}{y^2-r} \Rightarrow x^2 y^2 - rx^2 = y^2 \Rightarrow$$

$$y^2 x^2 - rx^2 = y^2 \Rightarrow y^2 (x^2 - 1) = rx^2 \Rightarrow y^2 = \frac{rx^2}{x^2 - 1} \Rightarrow y = \pm \frac{\sqrt{rx^2}}{x^2 - 1} \Rightarrow y = \frac{\sqrt{rx}}{\sqrt{x^2 - 1}}$$

$$f^{-1}(x) = \frac{x}{1+|x|} \quad g^{-1}\left(-\frac{r}{\Delta}\right) + f\left(-\frac{r}{\Delta}\right) = p$$

$$g(x) = \sqrt{x} - 1 \quad -\frac{r}{\Delta} = \frac{x}{1+|x|} \Rightarrow x = -r + rx \Rightarrow rx = -r \Rightarrow x = -\frac{r}{c}$$

$$\frac{q}{ra} - \frac{r}{r} = \frac{-r^2}{\sqrt{ra}}$$

$$\sqrt{x} - 1 = -\frac{r}{\Delta} \Rightarrow (\sqrt{x})' = \left(\frac{r}{\Delta}\right)' \Rightarrow x = \frac{q}{rd}$$

$$f^{-1}(x) = \sqrt{x-1}$$

$$g(x) = f(x) + \sqrt{f(x)} \quad x = \sqrt{y-1} \rightarrow x^2 = y-1 \Rightarrow y = x^2 + 1$$

$$g(x) = x^2 + 1 + \sqrt{x^2 + 1}$$

$$g^{-1}(1r) = p$$

$$t^2 + t = 1r \Rightarrow t^2 + t - 1r = 0 \Rightarrow (t+r)(t-r) = 0$$

$$g(x) = 1r \quad x^2 + 1 = t^2 \quad \frac{x^2 + 1}{\sqrt{x^2 + 1}} = t$$

$$(r)^2 = (\sqrt{x^2 + 1})^2 \Rightarrow a = x^2 + 1 \Rightarrow a = x^2 \Rightarrow x = r$$